SOME RESULTS ON P-SKEW-BINORMAL OPERATOR IN MINKOWSKI SPACE M

D. Krishnaswamy, J. Prabha

[1] Department of Mathematics, Annamalai University, Annamalai Nagar, Tamil Nadu, (E-mail: krishna swamy2004@yahoo.co.in)

ORCID:0000-0002-1192-8520

[2] Department of Mathematics, AnnamalaiUniversity, Annamalai Nagar, Tamil Nadu, (E-mail: krithika0392@gmail.com)

ORCID:009-0005-6992-9226

Abstract

In this paper, we investigate Skew-bi-normal operator in Minkowski space M. Furthermore, we study some properties of Skew- bi-normal operator in Minkowski space M. Also the relation between bi-normal and Skew-bi-normal are discussed.

2020 AMS Classification: 15A09, 15A24, 15A57.

Keywords and phrases: Normal, binormal, skew-binormal, Minkowski Adjoint, Minkowski Inverse, Minkowski space.

1. INTRODUCTION

Throughout we shall deal with $C^{n \times n}$, the space of $n \times n$ complex matrices. Let C^n be the space of complex n-tuples, we shall index the components of a complex vector in C^n from 0 to n-1, that is $u = (u_0, u_1, u_2, ..., u_{n-1})$. Let *G* be the Minkowski metric tensor defined by $Gu = (u_0, -u_1, -u_2, ..., -u_{n-1})$. Clearly the Minkowski metrix matrix

$$G = \begin{pmatrix} 1 & 0 \\ 0 & -I_{n-1} \end{pmatrix} \tag{1}$$

 $G = G^*$ and $G^2 = I_n$. In [[13]], Minkowski inner product on C^n is defined by (u, v) = [u, Gv], where [., .] denotes the conventional Hilbert space inner product. A space with Minkowski inner product is called the Minkowski space and denoted as M. For $A \in C^{n \times n}$, x, $y \in C^n$ by using (1),



 $(Ax, y) = [Ax, Gy] = [x, A^*Gy]$

$$= [x, G(GA^*G)y] = [x, GA^{\sim}y] = (x, A^{\sim}y).$$

Where $A^{\sim} = GA^*G$. The matrix A^{\sim} is called the Minkowski adjoint of A in M. Naturally, we call a matrix $A \in C^{n \times n}$ m-symmetric in M if $A = A^{\sim}$. For $A \in C^{n \times n}$, let A^* , A^{\sim} , A^{m} , A^{\dagger} , R(A) and N(A) denote the conjugate transpose, Minkowski adjoint, Minkowski inverse, Moore-Penrose inverse, range space and null space of a matrix A respectively. I_n denote the identity matrix of order $n \times n$.

Generalized inverses of matrices have important roles in theoretical and numerical methods of linear algebra. The most significant fact is that we can use generalized inverse of matrices, in the case when ordinary inverses do not exists, in order to solve some matrix equations. Similar reasoning can be applied to linear (bounded or unbounded) operators on Banach and Hilbert spaces.

Different authors [11], [14] and [9] have generalized the fundamental properties of various operators. Furthermore, we have explored various characteristic of the Skew-bi-normal operator. Ultimately, we established the connection between m-symmetric and Skew-bi-normal operators.

2. Preliminaries

Definition 2.1. An operator E is said to be normal in M if $E^{-}E = EE^{-}$

Definition 2.2. An operator E is said to be bi-normal in M if $E^{EEE^{-}} = EE^{E^{-}}E^{-}E^{-}$

Definition 2.3. An operator E is said to be skew-normal in M if $(EE^{-})E = E(E^{-}E)$

Definition 2.4. An operator E is said to be skew-binormal in M if (E~EEE~)

$$E = E(EE^{E}E^{E}).$$

Definition 2.5. Let E be a bounded linear operator on minkowski space M. Then E is said to be P-skew-bi-normal opertor in minkowspace M if and only if $(E^{\sim} EEE^{\sim})(E^{\sim})^p = (E^{\sim})^p (EE^{\sim} E^{\sim} E)$, where p is a nonnegative integer.

1. 3. Skew-binormal operator in Minkowski space M

An operator E is skew-binormal operator in Minkowski space M if $(E^{\sim}EEE^{\sim})$



 $E = E(EE^{\sim}E^{\sim}E).$

Theorem 3.1. If E is m-symmetrix and skew-binormal operator in minkowski space M then the following holds:

a. Suppose β is any scalar then βE is also skewnormal operator in M.

b. The restriction E/B of E to any closed subspace B of M that reduces E.

Proof:

(i) Given, E is skew-binormal operator in M,

Since, $(E^{EEE^{-}})E = E(EE^{-}E^{-}E)$, If β is any real scalar,

then $(\beta E)^{\sim} = G(\beta E)^*G = \beta GE^*G = \beta E^{\sim}$ [since $\beta^* = \beta$] $[(\beta E)^{\sim}(\beta E)(\beta E)(\beta E)^{\sim}](\beta E) = \beta E^{\sim}\beta E\beta E\beta E^{\sim}\beta E = \beta^5 E^{\sim 2}E^3$(1)

 $(\beta E)[(\beta E)(\beta E)^{\sim}(\beta E)^{\sim}(\beta E)] = \beta E\beta E\beta E^{\sim}\beta E^{\sim}\beta E = \beta^{5}E^{\sim2}E^{3}$

From (1) and (2), βE is also skew-binormal operator in M

(ii) If E is skew-binormal in M then $(E^{EEE^{-}})E = E(EE^{-}E^{-}E)$ Consider,

 $[(E/B)^{(E/B)}(E/B)(E/B)^{(E/B)} = [E^{(E/B)}(E/B)](E/B)$

= [E~EEE~]E/B]
 = E[EE~E~E]/B [Since E is skew-binormal]
 = (E/B)[(E/B)(E~/B)(E~/B)(E/B)]

Hence E/B is also skew-binormal operator in M.

Theorem 3.2. If E is m-symmetrix and normal operator in Minkowski space M then E is skewbinormal operator in minkowki space

Proof:

If E is normal operator in Minkowski space M then E~E=EE~

 $(E^{EEE^{}})E = E^{EEE^{}}E$ $= EE^{} EE^{}E$ $= EE^{}EE^{}E$ $= EEE^{}E^{}E$



Tec Empresarial | Costa Rica, v. 19 | n. 1 | p.2040-2053 | 2024

$$=E(EE^{E}-E^{E})$$

 $(E^{EEE^{}})E = E(EE^{}E^{}E)$

Hence E is skew-binormal operator in Minkowski space M.

Theorem 3.3. If E is m-symmetrix skew- binormal operator in Minkowski space M and F is skewbinormal operator in Minkowski space M. If E and F are doulbly commuting then EF is skew-binormal operator in Minkowski space M.

Proof:

Given E and F are skew- binormal operator in Minkowski space M and by using definition of skewbinormal operator we know that,

 $(E^{EEE^{}})E = E(EE^{}E^{}E)$

and $(F \sim FFF \sim)F = F(FF \sim F \sim F)$ and given m-symmestrix $E \sim F = F E \sim$

 $[(FE)^{\sim}(FE)(FE)(FE)^{\sim}](FE) = (FE)^{\sim}(FE)(FE)(FE)^{\sim}(FE)$ $= E^{\sim}F^{\sim}FEFEE^{\sim}F^{\sim}FE$ $= F \sim E \sim F E E F E \sim F \sim E F$ $= F \sim FE \sim EEE \sim FEF \sim F$ $= F \sim FE \sim EEE \sim EFF \sim F$ $= F \sim F (E \sim EEE \sim) EFF \sim F$ $= F^{F}(EE^{E}E^{E})EFF^{F}F$ $= F \sim FEEE \sim E \sim EFF \sim F$ [Since E is skew-binormal] $= F \sim EFEE \sim E \sim FEF \sim F$ $= EF \sim EFE \sim FE \sim F \sim EF$ $= EEF \sim FE \sim FF \sim E \sim FE$ $= EEF \sim E \sim FFF \sim FE \sim E$ $= EEE^{F} - FFF - FE^{E}$ $= EEE^{(F \sim FFF \sim)}FE^{\sim}E$ = $EEE \sim F(F \sim FFF \sim)E \sim E$ [Since F is skew-binormal] $= EEE \sim FF \sim FFF \sim E \sim E$



Tec Empresarial | Costa Rica, v. 19 | n. 1 | p.2040-2053 | 2024



Hence FE is skew-binormal operator in Minkowski space M.

Theorem 3.4. Let, E = U|E| be the polar decomposition of an operator E in M and U is unitary operator. Then, E = U|E| is skew-binormal in M if $U|E| = |E|U, U^{\sim}|E| = |E|U^{\sim}$.

Proof:

Consider,

 $(E^{E}EE^{E})E - E(EE^{E}E^{E})$ $= (|E|U^{U}|E|U|E|E|U^{2})U|E| - U|E|(U|E||E|U^{2}|E|U^{2}U|E|)$ $= (|E|^{2}U|E|^{2}U^{2})U|E| - U|E|(|E|UU^{2}|E||E|^{2})$ $= |E|^{2}U|E|^{2}|E| - U|E||E|^{2}|E|^{2}$ $= |E|^{2}|E|^{2}U|E| - U|E||E|^{2}|E|^{2}$ = 0

Theorem 3.5. Let $E \in M$ be m-symmetrix skew-binormal operator which is unitarily equivalent to an operator E if and only if EU = UE, $EU^{\sim} = U^{\sim}E$, $E^{\sim}U = UE^{\sim}$, then F is skew-binormal operator in Minkowski space M.

Proof:

Given that E is unitarily equivalent to F, there is a unitary operator U such that $F = U \sim EU$ which implies $F \sim = U \sim E \sim U$.

We must show that $(F \sim FFF \sim)F = F(FF \sim F \sim F)$.

Since E is skew-binormal then $(E^{EEE^{}})E = E(EE^{}E^{}E)$ Consider,

 $(F \sim FFF \sim)F = (U \sim E \sim UU \sim EUU \sim EUU \sim EUU \sim U)U \sim EU$



- = U~E~EEE~EU [Since U is unitary operator]
- $= U^{E} EEE^{U}$
- $= U^{E} EEUE^{E}$
- $= U^{E} E^{E} E^{E}$
- $= U^{E} UEEE^{E}$
- $= U^UE^EEE^E$
- $= (E^{EEE^{*}})E\dots(1)$

 $F(FF \sim F \sim F) = U \sim EU(U \sim EUU \sim E \sim UU \sim E \sim UU \sim EU)$

- $= U^{EUU} EUU^{EUU} E^{UU} E^{UU}$
- = U~EEE~E~EU [Since U is unitary operator]
- $= U^{EEE} E^{UE}$
- $= U^{EEE}UE^{E}$
- $= U^{E}EUE^{E}E^{E}$
- $= U^UE^EEE^E$
- $= EEE \sim E \sim E$
- $= E(EE^{E}E^{E})$
- = (E~EEE~)E(2)

From (1) and (2) therefore F is skew-binormal.

Theorem 3.6. If the operator E is m-symmetrix operator and also skew -binormal operator in Minkowski space M, then E^{\sim} is also skew binormal operator in Minkowski space M.

Proof:

Since E is skew-binormal operator, we have

 $(E^{EEE^{}})E = E(EE^{}E^{}E)\dots(1)$

Since E is m-symmetric, $E^{\sim} = E$



 $= E^{-}E^{-}EEE^{-}$ $= E^{2}(E^{-})^{3}$ (3)

From (2) and (3), E^{\sim} is skew-binormal operator in Minkowski space M.

Theorem 3.7. If E is m-symmetric, then E is skew-binormal operator in Minkowski space \mathbf{M} .

Proof:

Since E is m-symmetric operator, $E^{\sim} = E$

Now,

 $(E^{-}EEE^{-})E = E^{-}EEE^{-}E = EEEEE = E^{5}$

 $E(EE^{E}E^{E}) = EEE^{E}E^{E} = EEEEE = E^{5}$

From (1) and (2)

 $(E^{EEE^{}})E = E(EE^{E}E^{})$

Hence E is skew-binormal operator.

Theorem 3.8. If E is any operator on a Minkowski space in M. Then

 $(E + E^{\sim})$ is skew-binormal in M.

EE~ is skew-binormal in M.

 $E^{-}E$ is skew-binormal in M.

 $I + E^{E}$, $I + EE^{-}$ are skew-binormal in M.

Proof:

(i) Let
$$W = E + E^{\sim}$$

 $W^{\sim} = (E + E^{\sim})^{\sim}$
 $= E + E^{\sim}$
 $= W$



Hence, W is a m-symmetric operator.

We know that every m-symmetric operator is skew-binormal. Therefore, $W = E + E^{\sim}$ is skew-binormal operator in M.

(*ii*) $(EE^{\sim})^{\sim} = EE^{\sim}$

Hence, EE~ is m-symmetric operator, so EE~ is skew-binormal operator in M.

(*iii*) $(E^{-}E)^{-} = E^{-}E$

Hence, (E^{E}) is m-symmetric operator, so (E^{E}) is skew-binormal operator in M.

(*iv*)
$$(I + E^{-}E)^{-} = I + E^{-}E$$

 $(I + EE^{-})^{-} = I + EE^{-}$

Hence, $I + E^{E}$, $I + EE^{\sim}$ are m-symmetric operator, so $I + E^{E}$, $I + EE^{\sim}$ are skew- binormal operator in M.

Theorem 3.9. IF E is a m-symmetric operator then E^{-1} is also a skew-binormal operator in Minkowski space M.

Proof:

By the definition of m-symmetric, $E^{\sim} = E$

To Prove E^{-1} is skew-binormal in M, it is enough to check if it is a m-symmetric.

Now, $(E^{-1})^{\sim} = (E^{\sim})^{-1} = E^{-1}$

Therefore, E^{-1} is m-symmetric operator.

Hence it is proved that E^{-1} is skew-binormal operator in Minkowski space M.

Proof verification:

Assume that E^{-1} is m-symmetrix operator. Therefore $(E^{-1})^{\sim} = E^{-1}$

To prove that E^{-1} is skew-binormal operator. Consider,

 $(E^{E}EE^{-})E = (E^{-1})^{-}E^{-1}E^{-1}(E^{-1})^{-}E^{-1}$

 $= E^{-1}E^{-1}E^{-1}E^{-1}E^{-1}E^{-1}$

$$E(EE^{-}E^{-}E) = E^{-1}E^{-1}(E^{-1})^{-}(E^{-1})^{-}E^{-1})$$



Tec Empresarial | Costa Rica, v. 19 | n. 1 | p.2040-2053 | 2024

$$= E^{-1}E^{-1}E^{-1}E^{-1}E^{-1}$$

 $= E^{-5}$(1)

From (1) and (2),

E⁻¹ is skew-binormal operator in Minkowski space M.

Theorem 3.10. Consider an operator E which is a m-symmetric operator on a minkowski space M, then F ~EF is skew-binormal in Minkowski space M. Proof:

Since E is m-symmetric operator, $E^{\sim} = E$

Consider,

 $(F \sim EF) \sim = (F \sim E \sim F \sim \sim) = F \sim EF$

Therefore, F~EF is m-symmetric operator.

By theorem (3.2), we have the result that if F^{EF} is m-symmetric operator in M, then it is skew-binormal in M.

Assume F~EF is m-symmetric,

Consider,

[(F~EF)~(F~EF)(F~EF)(F~EF)~]F~EF

 $= (F \sim E \sim F)(F \sim EF)(F \sim EF)(F \sim E \sim F)(F \sim EF)$

 $= (F \sim EF)^{-1}$

 $(F \sim EF)[(F \sim EF)(F \sim EF)) \sim (F \sim EF) \sim (F \sim EF)]$

= (F ~EF)(F ~EF)(F ~EF)(F ~EF)(F ~EF)

From (1) and (2), $(F \sim EF)$ is skew-binormal operator in Minkowski space M.

4. p-skew-bi-normal opertor in Minkowki space

Theorem 4.1. If E is a normal operator in minkowski space M. Then E is said to be P-skew-bi-normal opertor in minkowspace M.

Proof:

Suppose E is a normal operator in M.



We need to prove that

$$(E^{\sim}EEE^{\sim})(E^{\sim})^{P} = (E^{\sim})^{P} (E^{\sim}EEE^{\sim})$$
$$(E^{\sim}EEE^{\sim})(E^{\sim})^{P} = E^{\sim}EEE^{\sim}(E^{\sim})^{P}$$
$$= EE^{\sim}E^{\sim}E (E^{\sim})^{P} E$$
$$= EE^{\sim}(E^{\sim})^{P} E^{\sim}E$$
$$= E(E^{\sim})^{P}E^{\sim}E^{\sim}E$$
$$= (E^{\sim})^{P}(EE^{\sim}E^{\sim}E)$$
$$(E^{\sim}EEE^{\sim})(E^{\sim})^{P} = (E^{\sim})^{P}(EE^{\sim}E^{\sim}E)$$

Hence, E is P-skew-bi-normal operator in Minkowski space M.

Theorem 4.2. If E and F are normal, P-skew-bi-normal operator in M, let E

Commute with F then (EF) is P-skew-bi-normal operator M.

Proof:

Since E and F are P-skew-bi-normal operator, we have



2049

$$= EFF ~E^{-} (F^{-})^{P} F^{-} (E^{-})^{P} E^{-} EF$$

$$= EFF ~E^{-} (F^{-})^{P} (E^{-})^{P} F^{-} E^{-} EF$$

$$= EFF ~(F^{-})^{P} E^{-} (E^{-})^{P} F^{-} E^{-} EF$$

$$= EF(F^{-})^{P} F^{-} (E^{-})^{P} E^{-} F^{-} E^{-} EF$$

$$= E(F^{-})^{P} (E^{-})^{P} F^{-} E^{-} F^{-} E^{-} EF$$

$$= E(F^{-})^{P} (E^{-})^{P} FF^{-} E^{-} F^{-} E^{-} EF$$

$$= (F^{-})^{P} E (E^{-})^{P} FF^{-} E^{-} F^{-} E^{-} EF$$

$$= (F^{-})^{P} (E^{-})^{P} EFF^{-} E^{-} F^{-} E^{-} EF$$

$$= (F^{-})^{P} (E^{-})^{P} EFF^{-} E^{-} F^{-} E^{-} EF$$

$$= (F^{-})^{P} (E^{-})^{P} EFF^{-} E^{-} F^{-} E^{-} EF$$

$$= (F^{-})^{P} (E^{-})^{P} [EF(F^{-} E^{-})(F^{-} E^{-})(EF)]$$

$$= [((EF)^{-})^{P}].[(EF)(F^{-} E^{-})(F^{-} E^{-})(EF)]$$

$$= [((EF)^{-})^{P}].[(EF)(F^{-} E^{-})(F^{-} E^{-})(EF)]$$

Hence (EF) is P-skew-bi-normal operator M.

Theorem 4.3. If E^{-1} exists and E is a P-skew-bi-normal operator in Minkowski spac M, then E^{-1} is P-skew-bi-normal operator in Minkowski space M.

Proof:

Since E is p-skew-bi-normal operator in M,

We have
$$(E^{\sim}EEE^{\sim})(E^{\sim})^{P}=(E^{\sim})^{P}(EE^{\sim}E^{\sim}E)$$

Let

$$[(E^{-1})^{\sim}) E^{-1}E^{-1}(E^{-1})^{\sim}]((E^{-1})^{\sim})^{P}$$

$$= [(E^{\sim})^{-1}(E^{-1}E^{-1}(E^{-1})^{\sim}](E^{\sim})^{P})^{-1}$$

$$= [(EE^{\sim})^{-1}(EE^{\sim})^{-1}]((E^{\sim})^{P})^{-1}$$

$$= [(E^{\sim})^{P}(E^{\sim}EEE^{\sim})]^{-1}$$

$$= [(EE^{\sim}E^{\sim}E)(E^{\sim})^{P}]^{-1}, [Since E is a p-skew-bi-normal].$$



=
$$[(E^{\sim}EEE^{\sim})(E^{\sim})^{P}]^{-1}$$
, [Since E is binormal]

$$= (((E^{\sim})^{P}))^{-1}[(E^{\sim}EEE^{\sim})]^{-1}$$

$$= (((E^{\sim})^{P}))^{-1}[(E^{\sim}E)^{-1}(EE^{\sim})^{-1}]$$

$$= (((E^{\sim})^{P}))^{-1}[E^{-1}(E^{\sim})^{-1}(E^{\sim})^{-1}E^{-1}]$$

$$= (((E^{-1})^{\sim}))^{P} [E^{-1}(E^{-1})^{\sim}(E^{-1})^{\sim}E^{-1}] [(E^{-1}^{\sim})^{P}=(((E^{-1})^{\sim}))^{P}]$$

$$[E^{-1}(E^{-1})^{\sim}(E^{-1})^{\sim}E^{-1}]$$

Hence, E^{-1} is p-skew-bi-normal operator in Minkowski space M.

Theorem 4.4. Let E is p-skew-bi-normal operator in Minkowski space M. Then if F is unitary equivalent to E, then F is p-skew-bi-normal operator in Minkowski space M. Proof:

Since F is unitary equivalent to E, we have $F = UEU^{\sim}$, Let E be skew-bi-normal operator. We have $(E^{\sim}EEE^{\sim})(E^{\sim})^{P}=(E^{\sim})^{P}(EE^{\sim}E^{\sim}E)$

$$(F \sim FFEF \sim)(F \sim)^{P} = [(UEU \sim) \sim (UEU \sim)(UEU \sim)(UEU \sim) \sim]((UEU \sim) \sim)^{P}]$$

=[(UE~U~)(UEU~)(UEU~)(UE~U~)](U (E~)^{P} U~)
= U [(E~EEE~)(E~)^{P}].(U~)[Since E isP- Skew-bi-normal operator],
= U[(E~)^{P} (EE~E~E)](U~)
= (U (E~)^{P} U~)[(UEU~) (UE~U~) (UE~U~) (UEU~)]
= (F~)^{P} (FF~F~F).

Hence, F is P- Skew-bi-normal operator. In Minkowski space M.

Theorem 4.5. If E is a m-symmetric and p- Skew-bi-normal operator in Minkowski space M, then E[~] is P- Skew-bi-normal operator in Minkowski space M. Proof:

Since E is P-Skew-bi-normal operator in M,

we have $(E^{-}EEE^{-})(E^{-})^{P} = (E^{-})^{P}(EE^{-}E^{-}E)$.

Replace E by E~ [By definition of m-symmetric]

Then we have

$$[(E^{\sim})^{\sim}E^{\sim}E^{\sim}(E^{\sim})^{\sim}]((E^{\sim})^{\sim})^{P} = (E^{\sim}EEE^{\sim})(E^{\sim})^{P}, \text{ Since E is m-symmetri}$$
$$= (E^{\sim})^{P}(E^{\sim}EEE^{\sim}), [\text{ Since E is P- Skew-bi-normal}$$
$$= ((E^{\sim})^{\sim})^{P}[E^{\sim}(E^{\sim})^{\sim}(E^{\sim})^{\sim}E^{\sim}],$$



Tec Empresarial | Costa Rica, v. 19 | n. 1 | p.2040-2053 | 2024

]

[Since E is m-symmetrix]

Hence, E~ is P- Skew-bi-normal operator in Minkowski space M.

References

[1] Alaa Hussein Mohammed, P-Skew-Bi-Normal operator on Hilbert space, Earthine Journal of Mathematical Science, 9 (2) (2022), 229–235.

[2] S A. Alzuraiqi and A B. patel, Hermitian projections and orthogonality in Banach spaces, General mathematics Notes 2, (2010), 61–73.

[3] Anuradha Gupta et al, Skew n-normal composition and weighted composition operators on 12, International Journal of Pure and Applied mathematics, 102 (2016), 625–634.

[4] A. Brown, on a class of operators, proc. Amer. Math. soc., 4 (1953), 723–728.

[5] S.K. Berberia, Introduction to Hilbert Space, Chelsea Publishing Co., New York, (1976).

[6] Stephen L. Cambpell, linear operators for which T *T and TT * commute, Proc. Amer. Math. soc, 34 (1972), 177–180.

[7] J. B.C onway, A course in functional analysis, Graduate Texts in Mathematics, 96 (1985).

[8] A R. Meenakshi, D. krishnaswamy, On sums of range symmetric matrices in Minkowski space M, Bulletin of the Malaysian Mathematical Science, 25(2), 2002.

[9] K. Meenambika, C.V. Seshaiah and N. Sivamani, Skew binormal operators acting on a Hilbert space, International journal of statistics and Applied Mathematics, 3(5)(2018), 128–133.

[10] Mohmood kamil Shihab, Square-normal operator, British journal of Mathematics and Computer Science, 3 (2016), 1–7.

[11] S. Panayappan and N. Sivamani, n-binormal operators, General mathematics Notes, 10, (2012), 1–8.

[12] C.R. Putnam, On normal opertors in Hilbert space, American journals of mathematics, 73 (1951), 357–362.

[13] M. Renardy, Singular value decomposition in Minkowski space, Linear Algebra Appl.,

(26) (1996), 53-58.

[14] Laith K. Shaakir and Elaf S. Abdulwahid, skew N-normal Operators, Aust. J. Basic and Appl. Sci. 16(2014), 340–344.



[15] C.V Seshaiah and K. Meenambika, A generalizatin of aluthge transformation using semihyponormal operators, International Journal for Research in Mathematics and Statistics, 2 (2016), 18–28.

[16] C.V.Seshaiah and K. Meenambika, Factorization of semi-hyponormal operators, Journal of faculty of agronomy, 34 (2018), 306–309.

[17] T. Veluchamy and K M. Manikandan, n-power quasi normal operators in Hilbert Space, IOSR Journal of Mathematics, 12 (1659-23952016), 06–09.

